About the voltage of the Function Generator GYINSTEK

Simply Reliable

The function generator outputs the original signal voltage “V(=2xVs) on the premise of 50Q2 termination.
The voltage Vr[V] applied to the load impedance R[Q] is obtained as follows when the output
voltage set to Vs[V].
R[Q]
(50[Q]+R[Q])
- When Load R=50Q. Setting Voltage: Vs =10Vp-p
Vr[Vp-p]=2x10[Vp-p]x50[Q]/(50[Q] +50[Q]) =10[Vp-p]

Vr [V] = 2xVs [V]X

- When Load R=1MQ. Vs =10Vp-p
Vr[Vp-p]=2x10[Vp-p]x1IM[Q]/(50[Q] + 1M[Q]) =20[Vp-p]
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